ID: 1

Name
Assignment Date Period
Simplify each expression.
32 1 1 2m
1) + 2) +
n-8 n-8 m+8 2m+16
4x . X—3 2 p’+4p-5 p+2
X>—9x+8 —x>+9x-28 p+2 4p* - 4p°
5r 14 -5r—r? 6 5 8
r>+5r—14 r—6 X+3  8x%+24x
8b 1 n“-7n+10 1
7) + 8) 19
2b-2 2b-2 n+8 n_2
v-8 v-1 k> —5k+6 7k
9) + 10) +
v+5 T7v+35 8k — 24 8

a’-4a+3 1 IX—49  Tx+28

11) 12) :
a+3 a-3 6 6
6 15p+12 gn+16n 1
13 PO DOPF 14y L0
15p+12 7p 4n+24 n+2
X+6 2X+4 1 r-8
15) 16) :

2X+4  X+8 36r  —r?+10r— 16

X2 +7X+6 1

8n? n*+3n-4

17) 18)
X+6 X—3 n-1 n+4
2
m< —2m—48 5 5b-40 b-8
19) . 20) +
m-4 m-38 b+7 b+7
2 v+4 IX-21 x+4
21) . 22) .
v+4 4v+20 X+4 X—3
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a’+6a+5 3a+3 n+8 2
+ 24) — T2
a+5 a->5 n“+4n-5 n“+4n-5

23)
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Answers to Assignment (ID: 1)

1) 32 1
m
6) 5
5 - S5r )
-6
7(v - 8) k-2
— 7 10
) ~1 ) s
2
13) P+O 14y "
7p n+o6
X+ 1 18) 8n?
17)
X—3
22
21) 1 ) 7
2(v +5)

LT wsgsgs ath-vsorlsheel ory

4x
X—3
7) 8b

3) -

a-1
a+3
X+6
X+ 8

11)

15)

19
) m—4

a->5

23)

5(m +6)
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Assignment
Simplify each expression.

7 _ 8
21 —49x  14x* - 6x

1)

nZ—10n+21 6

3) .
6 5n-35

k+7 . k-2
10k> =2k~ 10k* -2k

5)

6p’ -6p> 1

7
) 5 p—-1

m? +4m-—12 1
2—-m m+35

9)

X+3 &X —56
X2 —4x -21 6x>

11)

15
X—5 5x+15

13)

v—1 6v + 48
vVi+ev—16 v-—1

15)

4 &n + 48
8n + 48 n

17)

4p> 8
8 8p+64

19)

m>—1Im+24 m-38

21) +
18 —6m m+1

LT wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date Period

vV+1 ) 3v
vVi—4v—5 2v-10

2)

18x —42  24x> — 56X

4 .
) 8 8
30x — 36 6X
6) ———— —
30x° —36x 2
6n? 25n - 20
8) .

20n — 25n? 5

r+5 ] 6
703 +35r2  7r® +35r?

10)

6 1
2_9hb+18 b-3

12
)b

n-4 _n—5
2N+2  2n+2

14)

8a’+56a 8a
16) — 2. 29
a+7 3

7k?* + 7k 1

18) —— X
) k?+8k+7 8k

1 6n + 48
3n? —24n 6

20)

1 r—4
22) —
5r  5r°+35r
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6 2 1 4x3 —28x%?
24) :

23 +
)x2—64 16 — 2x 7 — X X—3
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Answers to Assignment (ID: 2)

X 2 n-3 3
1) —= 2) — 3 4) —
) 4 )3v ) 5 )4x
k+7 6) 3 6p? 6
k-2 5 5
4
g _(m+6) 10) 5 1y 4 1) 6
m+35 6 3X b-6
—4 16) 3
13) X+3 14) 1 15) )
X—35 n->5 v—-2
4 2
n 4 g 19) PP+8) LLLE
n 8(k +7) 2 3n(n - 8)
1 7 6 4x?
21) _(m+1) 29y 17 23) — 28y - %
r-4 X+ 8 X—3
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Assignment
Simplify each expression.

ov+21 3V
12v+28 4

1)

x> +2x—8 4x
X—2 3x% + 12x

3)

n-8n+12 1

5
) 7 n-2

2a+6 a’+8a+15
2 a+4

7)

9) x>+ 11x+30 X +5X—6

X+5 X—=17

1 p’+p-2

11
) p’—5p—14 3

X+3 X>+6X+8
X+4 X+3

13)

k+6 k-5

15) -
k+3  4k-20

n+4 _ 1

17) )
3n—-24 n"-12n+32

/. 1
21b+28 21b+28

19)

1 k*-2k-35

21 :
) k+5 7k?

A dagsgs . mabh-verksheeb.org

Name

ID: 3

Date Period

n-4 6n — 36

2 .
) 5 n*-10n+24

1 b>+9b+8
b+1 8

4)

6 2k? k-8
12k +18 12k + 18

1 ] 2X
1—-x  7x* = 7x

8)

16
n+4 2n>+8n

10)

n+7 7

12) :
7 8n+16

7 6m> + 30m?
6m> + 30m?> 8

14)

rr—-r-12 1

16 .
) 4r? r+3

3x—18 1

18)
X+2 X—6

20) +

2x—=16 1

22)
X—28 TX
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6  7a’-42a p+6 ~ p+4

23 :
)a2—36 6 p—5 p?-4p-32
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Answers to Assignment (I1D: 3)

1 6 4 b+38
1) — 2) — 3) — 4
) ¥ ) 5 ) 3 ) ”
- 2k? 4
5) 6 72 )
7 k-8 a+5 2
g X7 10 0 11y P! 12) N*7
x—1 3 3(p-7) 8(n+2)
13) x+2 14) 7 15) 4(k + 6) 16) r—24
8 k+3 4r
= 19) 2
17) (n+4)(n-4) 18) 3 9) 2b 20) 2
3 X+2
21) k_27 22) 2 23) a 24) w
7k 7X a+6 p->5
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Assignment
Simplify each expression.

2n-4 2

7 6n°

1)

1 xX*2+x-20
X+5 2x3—16x>

3)

X—2 . 1
X2 +2x-24  X+6

Sr+15 r’+r-6

7 :
) 5 3

V=35 VvZ+11v+30
5 V+5

9)

2
11) 3k” + 6k +ﬂ
k+2 7

1 n*-11n+28
n-3 n®>+2n-24

13)

15) =2 T =F

2p*+12p  2p
p+6 4

n+6 14n> + 8n?
14n° + 8n n+6

17)

n-n-5 1

19)
n-7 n-8

5m+40 1

21)
m+ 8 m-3

LT wsgsgs ath-vsorlsheel ory

Name

ID: 4

Date

Period

m-7 2m’+6m?
m+7 m-—7

2)

1 5n+15

4)
n+1 n+3

9-3b b+l

6)

5a+ 15 . a-3

8
) 6 6

b2+2b—-15 b+5

X*—8x+12  x+1

10)

12) 3x-9 +x—3
8 8

1 x*-16

14)
4—-x X-8

k-8 1

X2 4+2X—48  X+8

16)

TX 5% + 35
18)—-2—
5 X°+12x+35

r’ +13r+40 r+6

k2 —13k+40  6k°

20)

r+8  5r2+425r

2
X +3x-10 1
22) .

X—=17 X—=2
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1 —4 b+1 —b*+10b-21
23) S 24) . 2+
n-5 3n-15 b-3 b?’-5bh-14
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Answers to Assignment (ID: 4)

6n*(n -2 2m*(m+3 X —4 5
y or'0-2) pomlnes) )
m+7 2X (x—8) n+1
x—4 b+1 r—2 a_3
5 X+1
- 3
13) _n=7 14) _(x+4) 15) 4 16) 6k
(n—3)(n+6) X—8 k-5
17) n 18) X 19) n+7 20) r+6
21) 5 22) X+5 2) 3 24) _(b+1)
m-3 X—7 n-4 b+2
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Assignment
Simplify each expression.

v v+5
1) 2.
6 v + 40

1 6x+18

3 -
) X—8 x*-6x-16

n+4 . 1
5n+20 2n?

5)

X+2 1
7 +
) X2—x—-6 Xx-8

r-7 3r
9) — =+
) 7—r 14r?

4n—-4 4n-20
n-1 2

11)

5v _ 5v
% Ay - 20v?

13)

2n+6 n+1
n+1 n?>+4n+3

15)

2
a‘—5a-24 2
17) +
a+8 a+8
6x —2x> x> +5x—24
X—6 X+8

19)

1 2k-10
8k? 2

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date Period

3a-15 a-5
3 6a’

2)

2_ —
6) p~—6p-7 p+8
p+8 p+1
1 k? + 3k — 40
k? + 5k + 4 k-5

8)

1S
2m?  2m? + 6m?

10)

X2—Xx—6 x-7
X—=17 7

12)

b-6 3b% +6b
b?2—4b-12 b+4

14)

35x3 —35x%  35x° —35%?
16) +

2X 6X

2
—X“+ 16X — 64 X+5
18) +
X—& X—6
5 6
10n+35  10n + 35

20)

m’-3m-28 1
8m + 8

22) +
m+1
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1 p+5 1 x-1

23 - 24 -
)p—3 p>—11p+24 )X+5 xX=17
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13) v-5

17)

k-5

21
) 8k?>

(a+3)(a-28)

Answers to Assignment (ID:

2) 6a’
6) p—7

m+3

10)

14) —3b
b+4

18) (x=6)(x-8)

X+5
(m+4)(m-7)
8

22)

LT wsgsgs ath-vsorlsheel ory

X+2
6(X+3)
X—8
Xx-3

2

3)

7)

11
) n->5

15
)n+1

2X
X—06

p—-28

p+5

19) -

23)

5)

k+8
8 s ks a)

12) (x + 2)(x — 3)

16) 3

5
20) —
)6

24)
X+5
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Assignment
Simplify each expression.

m+1 5m+35
6m>  m+7

1)

6r’ —18r> > —11r+24

3 :
) r-—4 r-—=8

n+8 n-3
14n n+38

5)

8x?  5x% —10x

7
)x—2 8x°

4’ +12a 1
3a-3 a-1

9)

p+8 5p+5

11)
5 p+8

Nn+12 n-2
n+3 3

13)

1 5r2—5r

15)
r+1 5r

n-12n+35 n-5
14-2n 4

17)

15v—40  5v°

19 -
) 15v2 —40v ~ 5v

X—4 . x-4
X2+ 14x + 48 5x% + 30X

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 6

Date Period

n—1 n% +3n - 40
n>+2n-35 n—1

X—8 X*+5x-6

4 ‘
)3ﬂ—3x 8 — X

7 -V 4y
v’ +32vF v-7

6)

3-2x—-%x> Xx-5
TX + 21 X—1

8)

2b b?-5b-6
2b% +2b 2b

10)

16

12 =
) 8k 8k> +48k>

X+2 X —4x-21
X+5  X+5

14)

2m+4 2

16)
m+2

"m+8

X2 +7X+6 1
8 X+1

18)

n+9n+8 n+1

20) :
n+8 n+4

3b-6 1
3b-12 b-3

22)
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23)L. k+3 20) a’+14a+49 2
2k 7k +21 2 a+7
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Answers to Assignment (I1D: 6)

n 5(m+1) 2 n+8 3) 6r’ " _(x+6)
6m? n+7 r—4 3x
5)n—3 6) 1 7) 5x 8)_(x—S)
14n v(v +8) 7
) 4a(a+3) 10) b-6 11) p+1 12) k+6
3 2b
13) 4(n-2) 14) X+ 2 15) r—1 16) m+8
(x+3)(x-7) r+1
17) -2 18) X+ 6 19) iz 20) n+4
8 Vv
5% b-2 7 24) a+7
21 22) 23) —
) X+ 8 ) (b-4)(b-3) ) 2k
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Assignment
Simplify each expression.

2
m-+5m-6 5
1) ——— - —

5m?+30m  5m

x> —7x+ 12 1

3)
X+ 8 X—3

3x? + 15X 1
X—06 X+5

5)

2n? = 10n 7n

7 )
) 7n —-n*+6n-5

X+6 X' —5Xx—6
3-x x*-2x-3

9)

8n + 40 1

11)
n+35 n+4

25x + 40 4x
X+ 8 25x + 40

13)

6a a’-4
15) + >
a-7 4-a

5 L 1p
p?—2p-35 7p>+35p?

17)

m—8' m+6

19) +—
m-3 m“+3m-18

1 4r+20
21)—2-
3r r+5

LT wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date Period

10n° — 2n? 1
25n -5 n+§

2)

6 x>—14x+48

4
) X—8 5x%2

1 2p-4
p-2 p-1

6)

6m>  3m-15
3m+9  6m?

8)

r-8 r’ +2r-35
r’ —13r+40 r-3

10)

Vi+3v—28 3v+2l

12
) 6v? 3

b+35 1
4b* +20b> b+8

14)

3x—24 3
16) X - 3X
3 X—8&
—k?>+8k—-16 24 -6k
18) = -
k—4 k+1
20) 3 +14n*> 6

n—2n—8 7n?

X2 +2x—48 x-7
6Xx — 36 X+ 8

22)
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5x? 4-x 3 3
- 24) - 3
TX+14 x-4 n-3 5n°-15n

23)
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Answers to Assignment (ID: 7)

-1 n?
p -2 2y
5 5@+@
3 2
5) — 6) ——
X—6 p-1
g _x+6) 10) 77
X—6 r-3
4x b+8
13 14
) X+ 8 ) 4b?
k+1
17) —— 18) =
p-7 6
4 X—=7
21) — 22
)3ﬁ )

LT wsgsgs ath-vsorlsheel ory

X—4
X+ 8
2n

-n+1
8

n+4

6a
15) ———
a-—-7

19) m-8

3)

7)

11)

5x2

23) - 7(x +2)

math-worksheet.org



Assignment
Simplify each expression.

1 6b%+30b
2h? 6b

1)

=7 3v

3 .
) v Vi4+4v-5

1 8a’+32a
5) — . ——
8a a+1

5 1

7 =
) 8—x Xx*—11x+24

n+4 . n+?2
28 +3n-n?>  3n®-21n

9)

2x — 14 4x?

11
) 4x? X+ 7

5 4n’?
3n2+9n  3n%+9n

13)

15 24, b
b-5 b-5

x—1 x> -9x+8
3 56+ Xx—x2

17)

a+4 4a-24

19
) 7S 4

5% 5%
6X> —6X  6X> — 24X

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date Period

7n’ +2In*>  n-2
n>+8n+15 n+5

6X + 48 3X

4) .
8X 6X + 48

1 k-3
6) +—
k-3 k“-8k+15

4x — & 1
8 -
)xz—x—z X+ 1

8m + 48 m+2
m? +8m+ 12 3

10)

12 4 b-2
4b-24 b-7
14y P~ 7p—28

7-p pi-p-12

n-2 n+8

16) 3 .
n-+12n+32 4

r-3 20+r—r?
7 r’-r-20

18)

X—4 ) 1
4x—16 x+1

20)

1 Vv2+v-56

22)
V-0 v—17

math-worksheet.org



2p-6 1 2k k-7

23) : 24) :
2 p+s 2k-2 " 2k-2

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 8)

b+5 7n’ 7
1 2 3 4) =
) 2b? ) n-2 ) V+5 ) 8
5) a+4 6) -5 7) —5(x - 3) 8) 4
a+1 k-3
g) - " 10) 3 gy 26=7) 12) o2
n+2 3 X+7 (b-6)b-7)
5 7 8 n-2
13) — 14) — 15) —
)4n2 ) p+3 ) b )4(n+4)
17) _(7+x) 18) _(r—3) 19) (a+4)(a—6) 20) X+1
3 7 5 4
21y X4 29) V¥ 8 23) P—3 21y 2
X—1 V—06 p+8 k-7
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Assignment
Simplify each expression.

6x> ' 1

X2 4+2x—15 x> +2x—15

2
r“+7r—-8 r-1
3) +
2 r-6

X2 +2Xx—-48 x+4
X+4 8

5)

7 6b—6+6b+18
b-1 5

1 n®>+8n+15
n+3 2

9)

1 o a+4

11) +
5a+15 6a+24

X—6 X—35
X2+6Xx—-7 X—6

13)

n>—13n+42 8

15)
8 n+1

7m  24m? —56m
m+7 21m?—49m

17)

2 14n% —7n

19)
6n -3 2

Name

ID: 9

Date Period

-n®>+15n-56 n-2
n>—15n+56 n-=6

2)

8 3m? + 18m

4) 5
m- + 14m + 48 8

2n+4 1
n-5 n’>+10n+16

6)

3v? + 12v 1

8)
3v V+4

_ 3 42
10) k-2 N 3k’ — 6k
ok 3k

1 ) X—5

12 =
) X—2 X>+4x—12

1 3x+24
14) — .2 F
TX 3

1 8p?
16) —+—o—
4p 8p  +8p

X—8 15x+ 6
25x+ 10 X—28

18)

1 4

20 +
) r+2 4r’ +8r?

5 5
n>-2n-35 7n-49

22)
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b>-2b-8 b’>-2b-8 gy V=T ]

23) . +
6 b-2 vV-21 v-7

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 9)

N
= 8)éx = R 5)2(n %) N5 V!
n+s 10)6% 11)% 12) zig
(x +X7)_(x5 -1) 14) X7;28 15) s _n6 )+(nl_ L 16) p4+|—01

22) nzs 23)'0%2 2a) V=7

dagsgs . mabh-verksheeb.org
math-worksheet.org



Assignment
Simplify each expression.

X2+6Xx-7 X*+6x—7

1) +
X+ 8 X—4
a+4 a+4
3) >+
35+2a—-a 8a—56
5) 5p —p?+16p— 64
2p2-16p p—8
1 m+3
7) +
m-3 7m-21
1 r’+4r+3
9) .
r+3 3
5 1
11) +
2v+14 v+7
5 6
13) +
6b+24 6b+24
n+1 nZ+ 11n+28
15) — .
n“+11n+28 n+7
5x% + 15X 1
17) .
X+3 X+ 1
24n®> —56n  12n-28
19) +
n+1 n+1
8n +40 1
21) .
n+>5 n+7

LT wsgsgs ath-vsorlsheel ory

ID: 10

Name
Date Period
k>-7k+6 1
2) il +
k+7 k+7
8X+64 Xx-6
g 22107
X—6 X+ 8
6n° 5
6) :

6n° +42n  n2+11n+28

1 8

8) +
X—8 8x—48

n-1 n®>-15n+56
n-7 6n — 48

10)

X—4 88X — 64

12 :
) X2 — 12X + 32 8

77
49k +35 35k +25

14)

x> +5x—6 5x—15

16) :
X—5 X—5

m> +8m+7 m+1
m-—1 ‘m-1

18)

5 X+ 1

20 .
) 3x2 X2 4+2x+1

6 7
b+3 7b-56

22)

math-worksheet.org



1 7X — 28 4p% + 16 1
. 24y TP T 0P
X+ 14 6X 4p p+6

23)
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Answers to Assignment (ID: 10)

n X — 4 2) (k=1)(k—6) 3 8 4) 8
X+ 8 5+a
5 n+4 7 X—06
5) -2 6 7 8
) 2 ) 5 ) m+3 ) X—38
| -1 12) 1
9 LT 10) " 1) > )
3 2
| X+2
13) 2 12) > 15 F 16) 2
6 7 n+7
17) 5% 18) m+7 19) 2n 5
X+ 1 3x3(x +1)
8 6(b—8 4 4
21) 22) 6lb-8) 23) 2% 2ay P¥
n+7 b+3 6x(x +2) P+6
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